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ENGLISH VERSION
If the Cash Reserve Ratio is lowered by RBI, its impact on credit creation will be
AN favourakle B) adverse ("t both favourable and adverse D) no impact

Which of the following disease 18 caused by virus

A} small pox B} tubercujosis )y malaria D) typhoid
Fish respire through the

A nose B) lungs ) gilis D) fins
One should not sleep 1n a closed room where a charcoal fire 1s burning because
A} Charcoal produces carbon menoside which gecrease oxygen content in air
B) Charcoal produces carbon dioxide which is injurious to health

Cj Charcoal increases temperature in ihe room

1Y) none of these

In an earthen pot cooling of water depends upen

A) outside temperature By atmospheric hunudity

Cywind Diall of these

The scientist who first discovered that the earth revolves round the sun was
A)Newten  B) Dalton C) Copernicus D) Einstein

Which country awards the Nobel Prize

A)USA B) Sweden CrilK D) Ireland

Which Cricketer has been appointed brand ambassador o1 Border Secunity Force?
A) Sachin Tendulkar B) Virat Kohli C) M.S. Dhoem D} Rohit Sharma
Miss Universe 2013 Gabriela [sler is from

A) Venezuela B) Finland C) Greece D} Australia

Rating Agency ICRA slashed India’s GDP growth estimate to __in Financial
Year 2014,

A) 4.9 percent 13} 3.9 percent C) 4.1 percent D) 4.3 percent

In a certain code, ‘REFRIGERATOR 1s coded as "ROTAREGIRFER’. How would
the word *NOITINUMMA" be coded”

A)Y ANMOMIUTMI By AVMINTOMUITN

C)y AMMUNITION DY NMMUNITIOA

According to certain code

1) *min fin bin gin’. means "trains arc always late’

i1} *gin din cin hin’, means * drivers were always punished’
1ii) “bin cin vin rin’, means ‘drivers stopped all trains’

iv) “din kin fin vin’, means ‘all passengers were late’

then “hin min kin® would mean

A) always late trains B) passengers are punished
C) all passengers late D) passengers are late

[f the animals which can walk are called ‘swimmers’. animals who crawl are called
flying’, those living in waler are called *snakes” and those which fly in the sky are
called “hunters’, then what will a lizard be called?

A) sSWImMmers B) snakes ) hunters D) flving
Which one set among the foliowing is similar to given set

Givenset : (8.3, 2)

Alternatives:

A) (10, 6,5} B} (63, 8, 3} Cy (95,24, 5) D) (168,15, 4
Find the pair among the alternative having the same relationship as the first pair has
Aryabhatta : Mathematician :: Varahamihira:

A) Physician B) Astronomer C) Scientist D) Architect
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Find the one that does not belong to the group 2, 5.9, 27, 112, 565, 3396

A} 363 By Y112 Ny 27
Compiewe the seriecs €, Z, FL XV LV L 1,077
A)O,P ByP. @ OiR R DYS, R

The given series of letters have a definite pattern. Some terms are missing in the
scries. One among the given alternatives has the same order
(lven series: abca bcaab ca bbe a

Alternatives:

A ccaa B) bbaa Cyabac 1}) abba

Find the wronglv matched pawr

1 Lion — roar 1) Snake — hiss ity Bees — hum 1V Frog — blieat
v) Dog — bark

A) ] B (i1} ) (11i) Dy (v

Out of 4 groups below, 3 are alike in a certain way. one is different. Choose the
ditferent one

iYjkNors yhlMnopg e DGhiI wipg TlUxy
Al (1) B) (i) Oy i Py (ivi

Find the nexi term 8, 28. 116, 584, 7

A) 1732 3y 3504 ) 3508 1) 3502

Pointing to a lady in a photograph, a lady tells Pramod, T am the only daughter of
this lady and her son 1s vour maternal uncle”. How 1s the lady reiated to Pramod’s
father?

A) sister-in-iaw Bj wife C) sister D} mother

If°P $ Q" means ‘P is father of Q°, P # Q' means “P is mother of Q. "P * Q" means
‘P is sister of Q7, then how is D related to N in NEASB*D ¢

A}nepnew  B)grandson () granddaughter D) granddaughter or grandson
B3 is the husband of P. (Q is the only grandson of k. who 1s wite of D and mother-in-
law of P. How is B related to D7

A) nephew B} cousin Y son-in-law 21 son

Three persons A, B and C wore shirts of black, blue and crange colours { not
necessariiv in that order) and pants of green, vellow and orange colours { not
necessarily in that order) No person wore pant and shirt of same colour. Further. A
did not wear black shirt. B did not wear blue shirt, C did not wear orange shirt, A did
not wear pant of green colour, B wore orange pant.

What were the colours of pant and shirt worn by C. respectively?

A yellow and black B) yeilow and blue

C) green and blue D) orange and black

In the Olympic games, the {lags of 6 nations were flown on the mast in the following
manner: The flag of US was to the left of Indian flag. and to the right of French flag.
The Australian flag was to right of Indian flag but was to the lefl of the flag of Japan.
which was 1o the left of the flag of Ching. ind the two flags which are in the centre
A) India and Australia By US and India

() Japan and Australia D) US and Austraiia

Read the following information and answer the question

1) Gopal is shorter than Ashok but tatler than Kunal

i1) Navin is shorter than Kunal

iii) Jayesh 1s taller than Navin

iv) Ashok 1s taller than Jayesh

Who is tallest among them

A) Gopal B) Ashok () Kunal D) Jayesh
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28 A sales representative plans te visit each of 6 companies M. N. P.O.Rand S exactly
once during the course of one day. She 1s setting up her schedule for the day
according to following conditions
i} She must visit M pefore N and K
11) She must visit N before
1i1) The 3™ company she visits must be P
Which of the following could be order in which she visits companies
AYM. S P.NJR.Q BYQ.N.P.R. S M
CYM.RIN.Q,P.S MP.S. MR QN

Read following information and answer Q. Nos. 29, 30
On a plaving ground, Dev, Kumar, Nilesh, Ankur and Pintu are standing facing North

i} Kumar 40m 1o right of Ankur i) Dev is 60m to south of Kumar
ii1) Nilesh is 25m to the west of Ankur iv) Pintu is 90m to North of Dev

26, [f a boy walks from Nilesh, meets Ankur followed by Kumar. Dev and then Pintu.
How miany metres has he walked. if he has ravelled the straight distance all through?
A)YZ215m By 1535m ) 245m Dy t85m

30 Who i< at the North-east of the person wha 1s te ieft of Kumar?
A) Nilesh 13} Ankur )y Pintu D) either Nilesh or Dev

31 Two buses start from the opposite points of a main read, 150 km apart. The first bus
runs for 235 km and takes a right turn and then runs 15km. Tt then turns left and runs
for another 25km and takes the direction back to reach the main road. In the
meantime, due to a breakdown, the other bus has run only 35km along the main road.
What would be the distance between two buses at this point?

Ay 65kms B) 75kms C) 80kms D) 85kms
3Z. Find the number of triangles 1n the Fig.
A)28 B3)32 Cy3e 12; 40

Which one of the following combinations would have the identical waler-image.
AYBCDFZK BIBCDEZK C)ZKOEDB DIBCDEOK

Complete the Fig. by replacing question mark (?) fron: given alternatives in Answer

Lad
s

- Fig.
X X
D |+
NENE; X IX]0
A)B B} C CyD D) A
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Observe the dots on a dice {one 1o six dois) m the following Fig. How many dots are

contained on the face opposite te that contamning four dots?
Ay 2 B3 Cye D) cannot be determined.

Replace the guestion mark in the Problem Fig. with an alternative out of Answer Fig

|
1

| N——

@ ot v

A B C D

AYA B)B ¢ C DD

The following problem contains four un-numberec kigs forming the Problem Set and
S other Figs numbered 1,2.3,4.5 forming the Answer Set. The 4 problem figures have
certain common features. Select a Fig. from Answer Figs. which posses the same
features as the Figs in Problem Figs.

o o o e o O;i‘eo » |9 o 2@ 0°°o'
[ ® e O ° o e eloee| ®, ‘
s o ® o060 L e ol|e e Polo ol o |
1 2 3 4 5
Ayl B2 Cy3a s
Q. Nos. 38 to 41, refer to the following Venn diagram:
Histery
- s
/// 48
£ g Y, fGeogragin
K oM S 12 ,J N
{ g A}
\{ ? 4 18 0 !
Lo LN f
/- ( 1& 16 \" /
Mathe‘tﬂali&&, —f
\\\. 1% ’-:/’//
S:ie‘nct
38 The number of students who took any three of above subjects
AY 62 B) 63 ) 64 oo
39. The number of students in total who took History or Mathematics or Science was
Ay 183 B) 190 Cy202 Dy ez
40. The number of students who took both History and Geography among other subjects
A) 62 B) 63 C) 65 D) 66
41, Which subject was taken by the largest number of students?
A) Mathemarics B) Science () Geography D3 History
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Read the following information and answer ().Nes. 42-43
1) 11 students A, B. C,D. L, F. G, H. I Jand K are sitting in a row facing the teacher.
i) D, who is to the immediate left of F. 15 second o right of C
ii1) A, who 1s 2" to the right ot F, i3 at one of the ends
v} I 1s the immediate neighbor of A ang B and 340 the left of G
v) H is to the immediate lefi of I and 2™ ic the right of 1

42, Which of the following groups of iriends 1s sitiing right of G
A)IBIA B) ICHDF CYCHDF Dy CHDE
43. in the above sitting arrangement whick one among following stalemenss 1s
superfluous
A)onlv{i}  Blonly (1) Chonly (111) D) none is supertluous
44, The positions of 1™ and 8" {etters in the word WORKINGS are interchangec.

Similarly the positions of 2" and 7" letters are interchanged and positions of 3™ and
6" are interchanged and positions of remaining two letters are aiso interchanged with
each other. Which of the following wili be the 3" letter to the left of R after
rearrangements?
Ay G Byl YN Py s

45, In the following alphabets. whicii ietter 1s 8" to the right of the 14" jetter from the
right end?
ZABCDEFGUHIJKLMNOPQRSTUVWXY

AYH B)R CyS mT
46 Letters of the word have been jumbled up. Construct the word
RIM[A T AU E|
121304506 7.
AY2.34,1,5.6,7 B) 3,1,2,3,4.7.6 C)3.2.3.4,7.6.1 Dy4,1,32.6.3.7
47, If each of the vowels in the word BREAK 1s kept unchanged and each of the

consonants is replaced by the next letter in the English alphabet, how many
meaningful words of four letters can be formed with the new letters using cach letier
only once in each word?
A0 Byl )2 DY 3
48. If it is possibie to make a number which 1s perfect square of a two digit odd number
using the 2™, 4™ and 7" digit of the number 739 1 4 2 6 5 8 using each only once,
Which of the tollowing is the 2" digit of that two digit odd number?
A)3 By s )7 D9
Directions for Q. Nos. 49 & 50:
Consider a group comprising of 4 students- Reena. Beena, Mcena and Neena, who stand
in 2 row, Reena and Beena stand in 6™ and 7" positions respectively from the left.
Meena and Neena stand in the 4" and 5" positions respectively from the right. When

Beena and Meena exchange their positions, then Beena will be 15™ from the left.

4G. Originally. Necna’s position from the left is
Ay By 13 )14 D16
50. If Neena and Reena alsa exchange their positions between theraselves then after the
exchange. Neena's position {rom the left 1s
A)b B) 10 )11 D13

The priest told the devotees, “temple bell is rung at regular iniervals of 45 minutes.
The iast be!l was rung five minutes ago. The next bell is due to be rung at 7.45 a.m.”
At what time did the priest give this information to the devotees?

A)7.40 am. B) 7.05 am. C)y 7.00 am. D) 6.55 am.

B - Page 70f30



A
[

Which one among the following is mirrer image o5

‘MALAYALAM

(A) MALAYALAM (B) WYTYIrviN
(C) MAJAYAIAM (D) MAFAYATM

Study the following arrangement of symbols, letters and numbers to answer
Q).Nos, 53-55

A
<4

3=PF2"KS75#SPLVS@MUEG6TQG+93-TY -

How many such letters are there in the arrangement cach of which 1s either
immediately preceded by a symbo! or immediately followed by a number, but not
both”

A)S Bie6 v

[

)8

How manty such consonants are there m the above arrangement each of which s
immediately followed by a consonant but not immediately preceded by a symboi?
A) nil B) 1 Cy o D)3

Which of the following is exactly in the middle of the 9 from ieft end and tae 15t
from the right end in the above arrangement”

AP By U Ty E L

Replace the question mark (7) with one of foliowing alternatives:

IEREEETEEEE

6 56 9 |z 20 0 0|
A) D B) 3 )5 7
Replace the question {7) mark with one of the given alternatives

LA LM B N

R [ c s 1D

R A
A)G BIR Oy IDIAY

Answer Q. Nos. 58-60 on the basis of following informations

All the roads of a city are either perpendicular or parailel to each other. Ail roads are
straight. Roads A, B. C, D and E are parallel to onc another. Roads G ILLLK, L
and M are paralle! to one another

i) Road A is | KM east of road B 1) Road B is 2 KM west of road €
iii) Road G 1s ¥ KM south oi road H 1w} Roaa D 1s 1 KM west of Road |
v) Road 1 is 1 KM north of road J vi) Road K is ¥2 KM north of road L

viii) Road K is } KM south ef road M

Which of the foilowing 15 necessariiy true
A) E and B intersect B) D s 2 KM west of B
() D is atleast 2 KM west of A Dy Mis 1.5 KM north of L

If K is parailel to 1 and K is % KM south ot Jand 1 KM north of G, which two roads
would be ¥ KM apart?

A)Kand J Biland K 2y Jand G DyJand H
ifroad E is berween B and C, then distance between A and D 1s

A)Y: 10 1.OKM B)1 KM () 1.5t2 KM DY12.0tw 2.5 KM

The value of @ for which the points {a + 5, a — 3), (¢ = 5, a + 3), {a, a) are collinear s
Ay a=>0 Bya<0 (C) no such a exists (D} any value ol @

The day of the week on 26" June, 1816 was

(A) Sunday (B) Wednesday () Friday (D) Monday
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Ten persons were arranged in a circle.  The probability of two particular persons
standing adjacent to each other 1s
1 1 2 2
A) = = (Cy = =
(4) 5 (B) 2 2 (D)

Three cards are drawn at random from an ordinary pack of cards. Find the probability

that they consist of a king, a queen and an ace.
64 54 . 12

(A 55760 B e =0 O e (DNone of these

The cauation {a* + 6y x* = 2 (ac + ba) x ~ c* + d* = 0 has equal roots then

(AJab = cd (B) ad =-/bc {Cyad = hc (DY ab =ved

A reduction of 25% in the price of sugar cnables the person to get 10 Kg more on 4
purchase of Rs. 600. What is the reduced rate of sugar?

(A)Rs. 25/Kg (B) Rs. 45/Kg (CyRs. 35/Kg {DyRs. 15/Kg
Which of the following rationai numbers has a terminating decimal expansion?

.. 2% 1475 . ' &
(A) 225775 i ) 512 lC) m [D) 1_5

Thelinesx+2y—-4=0and2x +4p—- 12 =0 arc
{A) Commciding {I3) Intersecting (C) Paralicl (133 perpendicutar

The ratio of incomes of two persons is 9 : 7 and the ratio of their expenditures is 4 : 3.
It each of them manages to save Rs 20 per month. then their monthly incomes are.

(A) 180, 140 (B) 18, 14 (C) 36, 28 (D) 1800, 1400
Which term of the Arithmetic Progression(AP): 21, 18, 15....1s - 817
{A}30 (By4s (C) 406 (D) 35

Pipe A can fill a tank in 20 minutes and Pipe B in 30 mins and Pipe C can empty tie
same in 40 mins. If all of them work together, find the time taken to {ill the tank.

(AY 17 _% mins (B} 20 mins (C) 8 mins (D) none of these
Thirty men take 20 days 1o complete a job working 9 hours a day. How many hour a
day should 40 men work to complete the job”

(A) 8 hrs (B) 72 hrs {0V 7 I (D) S hrs

&
Find the smallest number in a Geometric Progression(GP) whose sum 1s 38

and product 1s 1728.
(A) 12 {BY20 (C)8 {D) none ot these

A beat travels 20 kms upstream in 6 hrs and 18 kms aownstream in 4 hrs.
Find the speed of the boat in still water and the speed ol the water current?
(A) ¥ km/h (B)ékm/h (C) 5 kmvh (D) none of these

A car takes 3 hours to cover a distance of 180 kms. If the distance is to be covered in
5/2 hours. what should be the speed of the car ” '

(A) 72 kms/hr (B) 90 kuns/hr () 36 kms/hr (D) 60 kms/hr

Lee is 6 vears elder than her sister Sue and John is 3 years clder than Lee. If total of
their ages is 41 then Sue’s age is?

(A) 19 vears (B) 10 years {Cy 14 vears (D) 8 years
ABCE is an isosceles trapezium and ACDE is a rectangle such that AB = 10 ana
FC =20. What is the length of AEY

(A) 13 (B) 20 (CHi0 {D) none of these

Mr. Shah decided to walk down the escalator. He found that if he walks down 26
steps, he requires 30 seconds to reach the bottom. However, if he steps down 34 stairs
he would only require 18 seconds to get to the bottom. If the time is measured from
the moment the top step begins to descend to the time he steps off the last step at the

bottom. find out the height of the stair way in steps’
(A) 30 steps {B) 46 steps 1C) 20 steps (D) none ot these

B - Page 9 of 30



2]
~

Length of a tangent from a point P at a distance of 5 cm from the center of a
circle is 4 em. What will be the radius of the circle”
(A) S cm (By7 cm (C) 9 em (I3} 3 em

[f 12 men can do a piece of work in 80 days. in how many days will 16 men do it?
{A) 60 {B) 50 (Cy 53 (D 43
The angle berween the hour hand and tne minute hand of a clock at ime 5:33 1s.

E ]

(A 60" (B) 40" ({CyaZ- {D}inone of these

£
A man wants to cover a distance of 30 kms by bicycle. He goes at the speed of 12,3
km/h and takes rest for 20 minutes after covering each 12.5 km. How much time will
he take to cover the whole distance”
{A) 4 hrs (B) 5 hrs (CY6 hrs (D) none of these
A wire 1n the form of a circle of diameter 2icms is cut and pent to form a square. The

side of the square is (assuming 7T = 22/7*

(A) 3372 (B) 32 ()34 (D138

A drinking glass, of height 14 cm, 15 1 the shape o7 a frustum of a cone. The
diameters of its two ¢ircular ends are 4 cm and 2 em. Find the capacity of the glass.
(A3 103 em? (By 102 e (CHIOZ 67 cm” () 101em’

A 1oy train crosses 210 and 122 meter long tunneis in 25 and 17 seconds respectively.
The iength of the train is

(A)60m (BY73m fCy40m (Dye5m

Which data input method does mainly banks use for processing bank cheques 7
(A) OMR {B) Bar Code Reader {Cy MICR (D) Light Pen

Left or Right indentation in paragraph sctting of MS-Word determines disiance from
A) Left or Right Margin B) Left or Right Page Boundary
) Gutier Position D) None of the Above

Directions:  Assume this data to answer questions from 88 to 90

A company has many sales persons seiling different type of goods in various
states. It has recorded the following data for one month by various sales persons
{name column).

S T
1 |State [Name/Type Sale j
2 leB Ravi iPer 3571
3 iHR Ram |[Dairy 3338 i
4 lHE  [Sham Pen 5122 |
5 [cHD |Raju |Dairy (6239 |
6 [DEL |vasu [Procuce |8677 |
" RAJ |Bedi |Copy a50 !
g ik [simi [copy 17672
.9; up Goel {Produce |664
10 |UK | Garg [Produce |1500
11|Mp  [sita [Meat  [6596

The formula =COUNTIF(C2:C11," *uce”) in cell D12 will result in

A) 11 B) 3 Cyi D)0

The formula =SUMIF(C2:C11,""=Pen",D2:D11) in cell C12 will result n

A) 8693 B2 Cy 3571 D) 3122

The formula =CONCATENATE(REPT(0.3).RIGHT(D7.3)) in cell E§ will resuit in
A) 450000 B) 0,450 ) 000430 D) 450.000
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Format Painter in MS-Office 1s used to
A} Paint the figures B) Copy format from one place to anotaer
C) To paint various tables D To insert figures using Paint Brush

You want to use multiple operating system like linux. windows etc. concurrently on
single machine. The best way to achieve this is:

A) Make machine muitiple bootable like using GRUB

B) Use virtualization software like VM Ware

() It 1s not possible

D3} None of thesc

In the context of MS-EXCEL spreadsheet sotiware, the process of identilymng
specific rows and columns so that ceriain coiumns and rows are always visible on

the screen s called

A) Freezing B) Locking C)Selecting D) Fixing

Today's desktop computers have typically ‘X" amount ¢f main memory, "Y' speed of
processor and *Z° amount of hard-disk memory. Approximately X, Y, Z can be

respectively,

A) 4GB, 3kHZ. 1000GB BY4MB. 3MHz, 100GMB

C) 4GB. 3GHz, 1000KB D}y 4GB, 3.3 GHz, 1000GR

Which of the following is not a hard-ware:

A) Hard-disk B) RAM C} Processor D MS-Oftics

From what location are the Ist computer instructions available on boot up of
Windows OS?

A) ROM BIOS B) CPU C) boot.ini D) CONFIG.SYS
You just installed a new IDE hard drive, but your system BIOS will not recognize the
new drive, what should you check first.

A) drivers that necd 1o be loaded B) jumpers on the hard drive

() cable sequence D) hard drive manufacturer web site information
Which of the following operating system you most tikely will use on your laptop:

A) MS-Oftice B) Internet Explorer

C) Windows 7.0 Dy Mozilla Firelox

Which type of printer works by using a charged drum to deposit particles of ink on
the paper”

A) Thermal printer. B) Inkjet printer.

() Laser printer. D) Dot-mmatrix printer.

Mail merge is a feature likely to be found mn which of the following software
packages?

A) Email program B) Desktop publishing program

C) Spreadshect. D) Word processor

Which of the following may connect different international otfices of'a business?
A)LAN B) WAN C: PAN )y CAN

Gaining un-authorized access 1o a computer £ystem wouid fall under which category
of computer crime”

A) Data theft. B) Theft of services.

C) Destruction of data and software. D' Hacking.

What is a motion path in MS-PowerPoint?

A) A type of animation entrance effect B) A method of advancing slides
C) A method of moving items on a slide D) All of the above

In the context of animations in MS-PowerPoir:, what is a trigger?
A) An action button that advances to the next shde
B} An item on the slide that performs an action when clicked
C) The name of a motion path
Dy All of above
B- Page 110f 30
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Which of the following key wili noi advance the shdes in 4 slide show in casc of MS-

PowerPoint?

A) The esc key B3 The space bar

C) The enter key D} The mouse button

A creates coples during replication that are tuncuonally
equivalent but have distinctly different bit patterns.

A) Boot Sector Virus B) Polymorphic Virus

C) Parasitic Virus D5 Macre Virus

You perform banking operations online. Which of the faliowing are application-level

encryplion protocols that you wouid most likely use to securely bank online”
A)SSL and SET R Verisign and SHA
C)READY, SET. and GO D1 PGF, PEM, and SSL

In the context of MS-EXCEL spreadshect software, what happens when dollar
signs ($) are entered in a cell address? (ex. 3BS2:5825100)

AYAn absolute cell address 1s created.

B) The celi address will change when it is copied to another ceil.

{3 The sheet tab 1s changed.

D) The status bar does not display the cell address.

In order to enhance performance of the computer, Disk defragmenter

A) consolidates parts of files lying at different locations on computer’s hard disk.
B) deletes temporary files related to Internet.

C) deletes temporary files related to backup.

D) All of the above.

The Recyele Bin is an arca in Windows Operating System that contains oniy:
A)Files deleted from the hard drive.

B)Files deleted from CD-ROM

C)Files deleted from a 3.5-inch floppy drive,

D)Only By and C)

faw wggt & et &7 T Ad
(A) 1T (B) H'g (C) Uiy (D) wE
g g gfem nruat ot -~ - -—- Jer 31 »yE ydl &4
(A) SIS JET (B)ﬁ?:%ijfr
{L)E"‘f:E‘E’TJE'TU Dy ugTfent guTd

A femiraes fe Sow &9t o fare st fast O
(A)UH BE L (DYHE

T, ¥, € vae Is fehwmf fee' 1 &

(A) AFd (R) ferfra (C) Tafamr (D) AU
5 HeT O §eYS J-
(A) fanit (B) & (Cy BT (D) &=t
méw?m—mﬁﬁ%@ﬁﬁrﬁwwmmz
(a)fas (Bygd (C)Uw (D)€
‘ﬁg@ﬂéﬁﬁmﬁ’wﬁsWﬁa’rﬁ:
(A) Y& TS TE (B) MiaHy3 g3 &
(ORIt g3 T (D) MYds g3 a8
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(A)HE (BYHS e (D=
119. ‘GRge mEw = [eEHe gV -

(A) Gt (B) §Aa5™ (C)Gwg (D) §at FEE
120. ‘YA’ gue @F Q% gt gEe O )

(AYTEY (ByAg™w (CyFg (DY FHd
121. ‘H6dd ACH® I U™ »ig GRa I8 =7, Tva 0% fBfuwr fieg fagsr O

(A) HEEZ (B} AGaT (¢ ferfia (D) ATOTaS
122, ‘groydy gt T

(A} ITHT (B) §u-97 (C) fenfrage (D fsdt
123, frr unse fe9 gua i a¢ »iv fay, § faor #eT 4

(A) &=B (B) HesT (C) Aedtest (D) A =TSt

Directions ((.124-126):-  Choose the correct preposition to be filled in the gaps in the
following sentences out of the four given options:-

124, Seeta tinally managed to break free ..., her attacker.

{A) from (B) with (C) by (D) througn
123, I wish she knew what she was driving ...

(A) by {B}at fCron (D) off
i26.  Venkat was lucky to get ... with a small fine.

{A)on (B} through (C) o1t (D) by

Directions ((.127-130):- Choose the correct synonym of the following out of the four
given options:-
127, Adduce

(A) Cite (B3} Reduce {C) Subtraet (D) Addict

128, Debauched

(A) Cruel {13) Depraved (Cy Dangerous (D) Bleached
129.  Exasperate

(A) Entertain (B) Exhaust {C) Intunate (D) Attract
130.  Impolitic

(A) Apolitical {B) Impolite {C) Polincai (1)) Unwise
Directions (Q. 131-133):- Choose the correct meaning of the following idioms out of the
four given choices :-

131, Tonall one’s colours to the mast

{A}10 be a good sailor (B} 1 be accessible to all

(C) to be pessimistic (D) 1o refuse to surrender
132.  To come to a head

(A) 1o reach a crisis {B) 10 attain perfection

(C) to master something (D) 1o climb a mountairn

£33.  Te leave someone in the lurch
Alto aspire for his/her friend’s position  Bjto desert someone in a helpless condition

C) to plot a conspiracy D) to rob somebody in a journey.

Directions (Q.134 & 135):- Choose and mark the correct sentence out of the four given

options:-

134. (A} The population of London is greater then Jaipur.
(B) The population of London is greater than Jaipur.
(C) The population of London is greater than that of Jaipur,
(D) The population of London is greater than the city of Jaipur.
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145.

146.

{ A} Sachin is the greatest of all other batsimen.
iB) Sachin is greater than all the batsmen.
(C) Sachin 1s greatest of all other batsmen.
(D) Sachin 1s the greatest of ali baismen.

Who said “We are not Sikhs or Puniabis our religion was patriotism™

Ay Sohan Singh Bhakna B) Lala Hardval

C) Kartar Singh Sarabha Dy Bhagat Singh

Who signed the Treaty of Amritsar (1809} on behalf of British Government
A William Bentick By Lord Auckland

() Charles Theophilus Mctcalfe D) Sir George Barlow

In which Cricket Test Match did the wicket keepers of both the teams howl”
A) South Africa Vs India 1™ Test 2613
B) Fngland Vs Australia 2" Test 2013
C) West Indies Vs New Zealand 209 Fest
D Pakistan Vs Sri Lanka 1™ Test 2017
Which of the following sets of princely states are termed as Phulkian States?
A) Patiala, Malerkotla. Nabha B) Patiala. Jind, Malerkotia

C) Patiala, Nabha, Jind, Kapurthala DY Patiala, Jind, Nabha

’ai

Match the following:

River ‘ Ancient name of viver

| 1. Beas L Vipasha B

2. _ Ravi 'y Parushani

3 Chenab e Asikim B

4, Jhelum td, Vitasta |
A) la, 2¢, 3d, 4b R) la, 2b, 3¢, 4d () 1b, 2d, 3¢, 4a D) 1d. 2¢, 3b. 4a

The subtitle of 12" Five Year Plan is

A) Growth with Justice

B) Growth with Social Justice

() Faster, Sustainable and More Inciusive Growth
D) Accelerated Growth and Inclusive Growth

World War 11 is often considered to be a turning point in history because

A) the League of nations demonstraied that an international organization could
maintain world peace

B) the war brought an end to dictatorships as a form of government

) Europe'm domination of the world began 16 weaken as nationalism 1n colonies

mercased
D) religious and etinic differences were o {onger a source of conflict between

nations

Theory of Economic Dratn of India during British Imperialism was propounded by
AY Jawahar Lal Nehru 3) Dada Bhar Naoroji

Cy RO Dutt ) MK Gardhi

National Statistical Day is celebrated in Indiz in the honour of

A) Amartya Sen ) Radha Laha

¢y C.R. Rao D) P.C. Mahalanobis

Which one of the following oil fields of Ind:a 1s the oldest oil producing field”
A) Bombay High B) Digboi C) Ankleshwar D) Naharkatiya

Yeliow Book 1s
A) official publication of Italy and Iran B} official publication of Netherlands
C) official book of French D) official report of the Japanese Govt.
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in Indian Felity which 1s supreme
A) The Supreme Court B) The Constitution
0 The Parfiament D) Religion

The first hour of every sitting of the Lok Sabha is called

A} Question hour B) Pubiic hour ) Zero hour D) Privilege hour
During which of following decades did population record a negative growth rate

Ay 19271-31 By 19i1.21 Ty 194:-51 D) 193143
Ladli Laxmi Yojna has been launched for supporting girls of ali religions and casies
upto their marrage by

A) UP Governmeni B) MP Government

C’ Harvana Government 3y None of the above
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PUNJABI VERSION

3 RBI =& sa< HEeE »isUs wer fegr gier 7, few =7 §ug §3utes Sug wAd
J=arm:

(A) ATTER (B feudts

(C) FTed »g feudtg o= @t (D) IE YITE &SJT d=aT

ferge &3 femre gat g=r 3

(A) 99 (B) 3ufes (C) HE&EGTHT (DizERTEE
Wel for s g &t &

N (B)Ee=x (C) TS REE

feradt & §n fv ove few a0t Ao wdter R feg 98 €1 »fd1 &8 57 I°
fagfa

(A) T8 §IT5 HoaAEtE UeT g927  [AF &% g fag wadmas & Hr3dT we
AT T

(B) 5T TS FEMAERES Uer wger ¥ (93t frag 58t oataed J

(C) &8 and feg Iuns § soger g

(D) Guaes feu aet & 5ot T

fifet & g7 few uat v e ge fom 3 fadggg ager &

{A) TI9%T IUYHTE (B) TTHFE &t S

(=™ (D) feg Fd

fe fefamirat & 7Y 2 ufgst & o131 e fuget god e dnet 3, 69 7

(A) fsges (B) 825 (C) JUISTaH (D) HTETEACTENS

fgasT O 388 Y yTis dae o

(AT HALE. (B) WSS oad. (D) »ifegds

(A) AfgE ITHAT (B) fege qusT

(C) % . W, G&t (D) ITS AT

2013 & i gateen SadeT fensy fag &t 7.

(A} TOTERT B feadz (C) TS (D) MREE AT

oI-f5auras T9M ICRA & 9793 € GDP fedt wieHa § 2014 € €7 =0 &
wery eI
(A) 4.9 UBHT (B) 3.9 yI3HT (C) 4.1 Uf3Hd (D) 4.3 yf3wI
feq f=iw &3 feg, ‘REFRIGERATOR’ 5 "ROTAREGIRFER® few =80 &7
TreT 31 gEe NOITINUMMA® & fo= dsvT oigr ar<ar
(A) ANMOMIUTMI By AMNTOMUIIN
(Cy AMMUNITION ‘DY NMMUNITIOA
{1y “minfin bin gin’, € HISH & ‘trains ae alwavs iate’
{i1) ‘gin dincin hin’, €7 H3&H d “drivers were always punished’
(1i1) ‘bin ¢cin vin rin’, €T H3&F & ‘drivers stopped all trains’
(iv) *din kin fin vin® €7 HIB¥ T -all passengers were late’
3t fed *hin min ki’ €7 HIBY J<d™

(A) always late trains {B) passengers are punished
{Cy all passengers late (D) passengers are late
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17.

18.

B
o}

21.

H T8 AdE T yratt B “swimmers’ WMo T T, Fare 8 YrET & “flying’
WW%,W%HHT%E‘WW?E “snakes' MI W%H@BEW{E
‘hunters’ WY T2 F, IF iizard’ & It e s

{A) swimmers ‘B) snakes ¢C) hunters D) tlying

fers feg e Aeemsd oz §7: (8,32)

feawur

(A)(10.6,5) (B) (63,8,3) (C)195.24,5) (D) (168,15,4)
fesut few @0 7= wew &9 faw e T ufed 73 € fiT =ger 3=

Aryabhatta : Mathematician :: Varahamihira o
{A) Physician {B) Astronomer (CY Scientis: ‘1Y Architect
G g HHH 97 AR & FT AT 57 &t O

2,3,9,27,112,565, 339¢

{A) 565 By 9 (Cyiiz Dy27
fer 83T § yaraq:

CZFX,L,V,L.T.O. 2.7,

(A) O.P (BYP.Q (CIR,R (D) S.R

wygt & fa3t gt &3t v fonfos Ueas §1 fom w2t feg g9 uv arfew 0z &g
feasyt few fea e mra ap &

fe3t &=t ubca beaab ca bbe a

feasy

{A) ccaa {13} bbhaa (C) abac (D} abba

JEI I & HE'E F1F 9F & HBH d9-

1) Lion_ roar (11) Snake_ hiss (1i1) Bees hum

(1v) Frog  bleat (vi Dog  bark

(A) (1) (B} (i) (C) (i) (D} {tv}

It &3 4 Myt e, 3 feq 391 578 mims U5, fed fae §1 98 My view a9
(i)jkNors (i) h IMnpg ) ¢DGhkT (v) pq[l,.x;
(A) (i) (B) (i) (C) (i) ‘D) (iv)
MIBT HE (7 ) HTBH JJ: 8,28, 116, 584, ¢

A)1752 B) 3504 CYy 2508 13 3502

¢¢ feust »igg =% fewraT a9 3, few »iaz yire & onedt 3,57 fow wigg ot feag st
Tt ot Wi @R T geT g HnT § 1 §F wigg w yie € fust s o faReT O

(A) fAFea-fes-57  (B)uzsT ()88 (DyH™ ="

7 P$Q EHIBT T, PQ EUST T, PH) T HIBE T, P.Q € HTIT G, PHE(
TTHIBY I P.Q ETIT T, ITIeT N#ASB*L? @9 D e N &® &t fonz o

(A) &g (B) 37 (C FTFTeT (D) AT 77 IBHS
BP ey JIQE e feagar gizns 7, fmgt Dt ugst I Pet FATIBE D

&% af fomar o
(A) &Ted (B) aas (C) Fred (D) gev
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ABwE C 55 fewadsi 3 a8, 518 »g 7347 &dr St aiar ufgats Jems
7% | (FE9t &4t fa fow o few ) W 9, U wE AT 39Tt €t Ut Ufgat 78
(wgdt st far few ot few T fai fowaat & fed gar & anfter wig Ue &4t ufgat
58 A & Tt e 347 ufost ¥, B & &8t ot &t ufgat a8, ¢ & Aadt e
st ufost T8, A & odt §ar & U &1 ufaat, B & wadt Ue ufaat 97 At

C =& Ufost Ue 3 afte © gH=Td 997 & 7S

]
Lh

(A UTET o BT (B UtsT wT =%
(C) TT7 M &TBT I EECHE EE U
26. GEfug ¥t feg, ¢ gHed © ¥ HAZS TUT fer 39 578 g&¥ 4 HE  US &7

§9T g 98 € U UTH, »J IHIAT §F € A UH i WTHCS T €7 ¥37 97931
§5 O A9 UHHY, Udg AUs € $3 2 ¥ v AT, fRoe Y5 © £ € ¥E U AT
v € ¥3 waH e fAds a'vd flRy He:

(A) TES WS MTHSB AT (B)G. WH. »F g3
(C) 7TUTS W WSS T (D) T AR 2 RSB AT

27.  Jo gt goeT & g 3 UHe T 939 few
(i) STU™® Wi 3 HIE™ U9g §&'% 3 BaT T (i) S F&TH T HUIT I
(iii) TOIT &1E &% FgT & (iv) AT TUF 57 BEJ
o fegmg T 8w as
(A) TS (B) el (C) TS (D) 7oA

08, foor feaat yfsfaat M, N, P, Q. R »i@ S 6 quahf feg gaa 3% fea fos few
fomgs fea &g wer goet 71 87 I i ufsdut »rarg fea fes @wI »rust
wmmi
() 89 NwI R T ufowt M & fraatt (it) €T © F ufgsT N g% wreaft
(iii) St auat fan de @ Areat, ¥ P 9=t
fra=nr GuEhHT 3% G et &, §9 =T v &1 T FaeT 4

AM,S.P.N,R,Q B)QLN.P.R,SSM  OMRNQPS DP.SMRQN

Tt fe'st gosT § uF wJ 29,30 yFt © @39 feb:
s © verw feg, o=, g, fosw, wigg »ie i €39 W T ae a u8 78
() T T 40m T UR T (i) 9F gHE € 60m TS I8 J
(i) fEBE wEe & 25m UBH 28 T (iv) iz 9= € 90m 8598
Jo A fow BEE 5EW 98 9seT ¥, ¥@e, gHd, o 3 feg fig § feer 91 Eu faE
Wreg gfmnr I, & §o frur ot 9@e faar 3=°

(A1 2i5m (B) 155m {Cy245m DV 185m
30 GF fevadt @ G-y =8 de J iWoET FHE € §Y UTH O
(A) fomw (B) g (v fig (D) vt feBw A7 2=

31 TR AER @ feudls fior 3w 7s, fagt 9 g9 150km J1ufoBT ¥R
25km8€€ﬁ5ﬂ§ﬂ%%¥tﬁ?él§kmmﬁl f%EfEU@@B‘HBET@'M‘%’
25@nﬁ€%ﬁﬁm§wm%yﬁ€8ﬁﬁm%mwmﬁ|%§,gg
WITET § 7T 99d, OH 86 HY 139 QU 9<% 35km vset J1 fen fig Gug @5
g € gal faat g<af:

(A) 65km (B) 753xm (Cy 80km (D) 85km
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33.

34.

36.

Lar
~1

{A)28 By 32 ()36 (D) 4d

faos wiug-is ot uet fes Fas Mg I
IAYBCDFZK (BYBCDEZK (CYZKOEDR (DYBCDEOK
I5t fo'g feamur fes uRe- 195 7 ) &t 87 v & gy {939 § Hoi® &9

DX

X
@ |D|+| —
A || 2 XK O

A B 4 D

(A) B (B C (YD Dy A
WWWW&HW@WWW{@??WWW|WW
=gy @ feudts i 8us &% 593 78
e
;4:. -
i o :.}I i /
.

(A)2 (B3 (C)6 (D) fegurfazs &d1 137 A7 AFE"
ifrmi Jurfasg fo Wis-fig & 8§99 sute ge = fF feasy amg 5o
HHWW{%?H &g arfesg
e ' : T ) - :
| o A : |
TSUIRE = >V E 0V

- i ! ! ) i
: T ‘ i ! I

i

A B C D

(A} A ' (B)B (C1 C DD
wwmmwmwwumammﬁmnww@?m
Wa 5 o Jyfede HgT € »d 1,2,3,4.5 I8, §ge-ife 5TET Ta1 4 AT
w@wewmmmlmwxmkﬁ&amm*%aﬁ frm e
Wmﬁmemmmi

. ! , .
I e o o o 0 o0, 00 o0 o
| e ® |  a | ® |0 0006 4 |
@0 o iece e e 08 0%e0 o] o]
. | v
i 2 3 4 5
(Al B2 () 3 D)=

-
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yHs 38-41, 98 fe3 S« Jurfaze % Adfuz 0

38.

39.

40

41,

~,

42,

44,

46.

History
T ~
o 16 \\
/
/
,_,L———-—\ Geography
///‘ #\
P / /
{ '(’ \\
o3 h '
i : s 13/ H /
D4 s
Mathematics \J/
"\ 18 ¢
. /
\_\____,/

frrgy fefenmasior & Guars fefimr fes a¥1 < 9% feir 8¢ s, S o freat
5

(A) 62 (B) 63 (C) 64 (D) 66
fefenmadit &t gw fare gt fag & fefaom ar gife s 77 fefomrs @ 128 59 7s
{A) 183 {B) 190 (Cy202 (D) 53

gt fefentaehut & farest fag’ & 39 fefanr 5= fefgam »id 39w 5% ra:
{A) 62 (Bye6s 1C1 65 (D} 66
fefemmaaint €t /e 3 T fore st & fagsT faw fonr 7Y

‘A)arfeg (R) fefamr= (C) gaT® (D) fefgar

J&T e 3t gusT & UF ma 42-43 ynst © €39 fe:

() 11 fefenraat A, B,C, D, E, F, G, H, L] w3 K fea 37 fag siftwmua =8 9
g9 d 55 T5|

(i) D, fAoF Fess A dg UR T, ¢ € A0 UG gam 31

(i) A ¥ L € ¥9 uTAg a7 4, €9 feg fAg 3 a7 71

(iv) J. A W3 B € 0% &8 I Ipitel 3 wiF G & ¥vY Ui Fe T

(VIHDE &% T 99 UH g [ © g URE I 7

eIt & fausT AT G € FH UH 857 &

(A) IBJA (B) ICHDF (Cy CHDF (D) CHDE
¥o< © GUIF3 yiv feu, faus g5s ez &
(A) TEE (1) (B)T=H (i) (OIS (i) (D)FETFtewy sAT T

79 WORKINGS &9 ufa® w3 wae »yat ©f ®igdt & »uw feg sow e
Ater Ji fer 39T v o3 RIS wiye, 3 I o3 8 nigt &t Afadit &
wyy feg gew &g afer I, WF g1 © © »iygt It ®fggt & & feq g
zre gow fogr Fer 31 fer uiu g, faos™ »iyg R € 49 U™ A »iug J<arm

(A) G (B 1 (CYN (D)'S
Wyg J=am

ZABCDEFGHIJKLMNOPQRSTUVWXY

(A H (ByR (s o T

HEE © gt § ¥SI-HSI d137 famf™ 71 HuE 5276
‘R M [a 1T Ta TU
| 4 5 6

t’ﬁ

\')

|
17
254760 (D14.13.2.65.7

Lo

(A)2.5.4.1.5.6,7 (B}3.1.2,5,4,7.0 (<)
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47. ¥ WET BREAK few g7 & »mew sfoe foa A= w3 39d fowvs § e
TaavaT fous »Ed g o7% 5UE e AR, 3T 5% #ue &8 U9 Mugr €
fgs »aayds WY ST 7T RaY 96, §93 feT I o 999 mee o9 god »ivd €
g<w foa =< ot €93 adat 4
(A) O ‘B) 1 (Cy2 (D) 3

ag. STAfMT7 29142658 T W, TEMI AIT HIT € T9F qSo MAdT i
feq =vdl O 293" q9at 71 fausT v 87 & waT oa Afemf &7 g0 9 J:

(A) 3 (BB) 5 (C) 7 (D) 9

g fefonmaghnt - FiaT, dia, Wiar w3 &1 @ Ayg & feerd frosi fea a3 feg

¥yt I51 dteT oI HieT ¥E UTRE gHET 8= MF HI<T o 3 ugh 951 HiET

w3 ateT Ad UG greg I8t w3 (A<t 87 3 ugidT I&1 A9 89167 wd HlaT

Wyt gret & niun feg gesehr gs, 3 disT ve yTRE Geest g 3 JSart

S 49-50 ¥ @39 feb:

49 ¥y gufew, ster et vy yAg @ &

(A) S (B) 13 (C) 14 (D) 16
50, ¥ &eT mI dier St wirusht et § »iun few gew 8T 98, I AleT € ¥F
(A6 (B) 10 (Cy11 (D} 13

51.  feg yFdt & Wrud gargt § faor, e ©F Ut fewtig gu few 45 fiter v ===
fug =aat 31 fuest U@t O fte ufosT =7 At wigret Wit @ 93 & T Red
7.45 =9 =9’ YA & muE g9t & fev gue fas =v fe st

(A)YAST 740 FH (B)A=E 7 05 &
{CYAST 7.00 @+ (D)A=T 6 55 9

52, fegt fed fagsm ‘MALAYALAM' =+ HiR f=9 wiam g<4i:

(A) MALAYALAM (B) INYI VYN
(Cy MAJAYAJAM (D) MATAYAI'M

yNE 53-55 €7 39 € sE fGgT, »ivgt w3 vt € Jo' o9t 39S 4R
6=BF2*KS75#$PLV8@MUE6TQG+93+TY—

53 for g99E fou »iT »iug 68 o fagt fee 99a € 393 ufow fos »r@er J &

(A) S (B) 6 (N7 D)8

Gusag 399Ts feg wad fenms & 7o fAgr e T9a ¥ 393 fug fenms

(A) TET &T (B) 1 (Cy2 (D) 3

th
I

55, Eudwz Iaoty feg fausT ¥ fAe T &€ »Z v fid 3 Uee<e © fasas fearg T
(A)P (ByU (CVE (D) L
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s¢. foa fog fegsy 78 yas-f&a & w5

3008 19z 71
5 156 9 2 20 0
(A0 (B) 3 (€5 D} 7
57. fog fe 3 feasy &% Uis-195 & 928
A M . B | N
R I C S D
kU F Y
(A G (BiR (Cy T D)V

Jat fEdt guaT € Mg 2 58-60 YNET € G399 fel:
Hiog Tt mahyt waa fed g6l € w37 AHIE T8 W HHETSd I8 | ST ARET
frdmm 981 AB.C.D »3 £ A= few oW € AT 9851 GHILLKL w3 M
AIa’ Bd gH © AHTET34 I5
(' AVSIBPSY TUYEE 1kmIJ
iy BASE(CASA TUBHIB % km I«
(i) GFIg HASE T4 &% %km 3
(v) DA LAST SUBHIS 1kmI 9
(V) InSTIASY €E399® 1kmI T
{viy KHSd L ASH Elcacri=rcy Ykm T d
(vii) KASIMASE €4 T 1km I J

58. faus »ifsedt gu feg At &
(A) E g B fed gn § deet 78 (BIDBEUBHTE 2kmTJ
(CO)DATUBH B W We 2km 39 (DIMLEETII® 1 Skm IJ

s F K] eWeEdIma K ITSYE % %ikm ST g GEEIIIE Lkm T
S, g7 fgua € Agar v km €1 €4 3 JEaT

(A) K W3 i B3y I mMIT K (CYImI G Dy ImMI 1l
60, T ASEBwWE C € edhrs §, 3t Ans D S Ed &
(A)% 3 lkm (B) 1km (Cy1.53 2 km {(12.0F 2.5 km

61. aE‘%fE,ﬁ‘-TFTEﬁ(a+S,a~3),(a—S,a+3),(a,a)fégmﬁaﬁ.frz
(Aya=>0 Bra<0 (C)nifs a@ TETEFITT (D)a T AET T HE

62. 2695, 1816 § Ug3 € fes HE:
(A) 3T (Bygu=d (C)Faded (D)

63, o fevaami & feg feg few gedifen famm 31 € ferm femastn? € fes g7 @
mwwﬁa‘émﬁwﬁ
Ay 2 (B) = (Cy

64 memmémiwwﬁwwmfwwx
Wﬁﬁwmﬁﬁmm raq Haft v fea war 4
(A) (B) - © 2 p)fextfeIEt A adt

22 0(5 S S1%50 o 52+31+50

PR N V)

D)

65.  (a°+b)) x’=2 (acthd) x +c’+d’ = 0 AHIEES ¥ AHTE HE (root) T, fee:
{A) ab=cd (B)ad=\bc iCyad=be D)ab=vcd

B - Page 22 of 30
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68.

69

Td.

.1

76.

77.

78.

Ch

Iz & 3 few 25% J¢3t o A8 fex femast 600 gue & vdle I 10 fasary
TU 47 YUF o ReeT I §F S wd dnz & 3

A) 25 FU¥kg (B)45FURAg  (0)35FUEkg (D) 15 ke
farast ufgrm Afun &7 AHTUE EAHBE YR O
A S By 22 O RRA Sl
e E e 15
xr2y -4 =0T -y 12 =0 e T
LA) PSS (B) yfgees (Cy ATETIE (D) A&t

& eI @i MTHES T &7 WEYTT 617 T wid G&T € ¥agT € MEUTT 4:3 T
T g9 fenia st 20/- JUE UF HataT g 8eT J, 3T G5 et HifRE siHeEs i I3

(A) 180, 140 By 1§, 14 (C) 36, 28 {D) 1800, 1400
Airthmatic Progression (AP} 21. 18, 15,..... & fad3T ue -81 I
(A) 36 (B 45 (C) 40 (D) 35

uEly a feg 2o & 20 fitet few g9 Foet § w13 umety B 30 fiet feg 39 Aeet @
e ey C fen & & 40 firet feg wat 39 Raet 41 7 fed BdhHt yreiyt fee s T
H FTE5, 3T EF & FIG BT AHT HTBH &3

iay 171 fie By20fiHe (Cy 8 iz Dy fea feg aet S adt g
30 ¥v 9 UE g9 &4 89 & fea e & 20 fewT few ¥ daw g&1 40 5 fas ue
37 &1 595 fa feg o Haw § 7

(A) 8 e (B) 71 U (Cy 7 Ure (D)9 e
Geometric Progression (GP) feg w3y  #fewm Wgw ad AW @7 5 38 w3
JTHES 1728 <

(A112 (B) 20 (C1 8 (D) feat fe &t &t sat 7

fea fardt Ta-yfgg® 6 e few 20 kms 98ET § W3 TA-wggs 4 Ue fe9
18 kms 98T 31 4% yat fog famat & mizg uret € graT &1 38379 HBH &9

‘A) Y km/hr (B) l_ km/hr (C) 5 km/hr (D) fegt feg aet S a7
foar &g 180 Kms € g7 3 e feg 3w gaut 31 7 feg gat 5/2 dfent few 34
Fa&t T, 3t a9 @ 9g39 o dT grIter O

{A) 72 kms/hr (B) 90 kms/hr (C) 36 kins/hr (D) 60 kms/hr
B?W%Egé‘éwe?%wéﬁaﬁm‘?swe?ﬁiﬁ@weﬂh#@w?
75417, 3 7 &t 6 fast O

(A} 19 HT® (B) 10 & ({C) 14 A8 (D)8 ATE

ABCE AH-S8'g AW&T § »d ACDE fedt »rfeg T @7 7 AB=10 »3 EC=20. AE €
HHTEt & 9

(A) 15 (B) 20 (C) 10 (D) fegt feg e @ &t T

g 57T & HAISTT T T8T HTE °7 SRET 1371 ¥ €7 26 q9H €8 & T57
ﬁa%,?@ﬁgias*mﬂﬁaaug?mg30%?88@%1%&@334&3%3@'
=% 7eT T 3 GF § T57 wifs 39 yAe § 18 Afde &IF I HGr et Ay I
Guuwt U=t F it =8 e T8 & Jo7 e IF it TOH JUS Fo A § HITUAT
A=, 3 gedt feg U=1- waar & G9TET HEH §4:

(A) 30 FeH (B) 46 geH (Cr20qe¥ (D) fert fed aet &t d
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8O.

81.

853,

84,

86.

#d]
~

fegfegeded I 5cm€"T§'a"f§Pﬁg?fga"w_ﬁw@m%mi,?f??
& fenmau ot J=ar

(AYScom ‘B17 cm {Cy%cm Dy 3 em

712 60 feg dv g 80 fost feg w3y s o< I&, 3 16 9 fen o § fas feat
fog Fg5ar

LA) 60 (B) 50 (C1 3% (D) 45
W & fitet @8t gt Wi Wien @t get fegard 5:35 2 de J<am
(A) 60" (B) 40" (Cy42L® (D) feg™ feg aet S &4t T

feq fomad? AEE® QUT 50 kms & 9t I qdaT gger 1 G 12 5 km/k €
JETd A% BT T T T9 12.5 kms 95 fUE 20 fret Tt oy geer 71 59
At gat 3 qoa few fowT Mt sEam

(A) 4 U (B) 5 Ure (Cy6 e (D) feg™ feg ot & 537
21ems fo @ feg @ gu fewu few 3% § o¢ o3 777 § wI S99 soge SE
Ffgwr gter 31 ggar S gar d (= =22/7 WS &)

{A) 3372 (B) 33 (C) 34 (D) 35

14 om G fod IIEH o7 §& € (25 (@Few) € »ag feg I 87 © € dwae
fafant € fewry 4em W3 2cm T&T T®H € FHIET HBH d4°

(A)103em’ (B)102cem’ (CY102.67 cm” (D) 101 em’

foer fuSar arst 210 WF 122 Hied SEtdT 5991 & sHS 25 3 17 Alde’ fes ue
9ot 1 gt < FEEt O

{(A)60m (By73m (CH4dm (D}65Sm

For Ot &t {Hffar RS wn3d 3 faoat s fesue fedt (Data Input Method!
o =93 gde I&-

cly

(A) OMR BygE Az dFT (O MICR (D) Bfee U

\iS. =97 @ U5 O ifdar few, ¥F A B UH THIE © &8 Wy oEl g fan T
odt fzgurfes gaer &

(A) ¥gT AT 7577 THPAT (B) IS STyt Af At o<

(C) gred Afa3t (D) Guag fed gt S sat

foq GUEt & ¥I3 A9 feadgT 96 fiog fefds o feu < QY ya9 &7 As U
T51 fon % f=f3w feadfanr @ feaq watd € JoF €3 wiad foaow &3 751

88 I 90 yna'T @ €39 2 wEl fegt wafsnt § He T 98:
”WW:A”E e
1 |State |[Name Type Sale i
- Ravi iPen as71
3 |HR Ram:  {Dairy 3328
a [uP  |sham Pen 5122
5 ICHE |Raju Dairy G235
6 DEL Vasu (Produce 18677
7 |RAJ Beai [Copy 450D
8 UK Simi [Copy 7673
3 ue Goel |Produce (664 i
10 [UK  |Garg |Produce |1500
11 [mpP  |sita |Meat 6596
88. F® D12 feg g3 =COUNTIF(C2:C11,"*uce™) €7 yafe™ &4
(A)11 \B) 3 (C)1 (D)0
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39,

90.

91.

92,

93.

94,

N
=~

98.

99,

100.

101.

i (12 fes g9 =SUMIF(C2:ClL "=Pen’, D2:Di1) T UlgE™ J<eT

(A) 693 (B) 2 (C133571 (D) 5122

frw E8 f2g 739 =CONCATENATE(REPT(0.3). RloHnm 3) e yfge™ I<a9m
(A) 450000 {B) 0.450 (C) 000450 (D) 450.000

MS- mifer fou grave Ued ot =33 fan =Ad Ft A &

(A) fearg Ue 9% BE B) fee mf T gt @ F ot gTae

(C) fefgw araatt Ue J9a e

(D) iz 597 &t =393 A0 fedig HTiHg ad8 BE!

It feg HHTE T 38 &% TSN, f2ie wite =347 fefen Auss fArenT oF
=93 w9aT gUe ¥ TR § YT §8F ©F 73 T =ahur IteT &
(A)Hﬁﬁg&g—fwg—c‘a@sw@?m(mUBﬁmm
(B)VMWareeaa“rarna“eaﬁaaﬁﬁaeéwzﬁeaé*aw

() feg Frgg &t §

(D) feat feg aet S &1 ¢

MS-EXCEL. AUFHE Ageana © Yl f&=, fomT g99 Wg RS9 § UEES €
W?fa%ﬁﬁmwmwm%mm & »imge &

(A) ST (B &fgar () fRBaiear (D) feafrar

mgmaﬁr@?a*feg%maaawmﬁ X' W4T, URAT & Y
AT Wg TI5-f3ne vt & 72 iaar gt J1 " X.Y.Z mmmama

A) 4GB, 3kHZ. 1600GH B} 4MB, 3MHz. 1000MB

C) 4GB, 3GHz. 1000KB D) 4GB, 3.3 GHz, 1000GB
CEEL CACCEMGTIIRE

(A) TI5-TSmHe (BY RAM (C)TRTS (D) MS- wTen
foa=t mfedt § €89 08 EW"WEWWW‘WUE
{A) ROM BIOS (B) CPU (C) bootim (D) CONFIG.SYS

gt g &< IDE J9s FEle sarer, Udg, BWBIOQW{ETWE
A rad &1 Jdal! mmﬁrmeﬁ?j.
(A) Freteed gt 5 &9 995 © ®= ¥ (B)TF FEIE I HYIH

(C) g8 TH Damwmém@wm
g7t forad FEes frreH 2t miiue #uey Gue Sud <99 Faar:

(A) MSoTferd (B) feegde manuEde

(Cyf&ga 7.0 D) AfawT grieg dan

@TW?W@@EWW@H@%@ g fieqd &t fagust famr
aHaraEﬁ'U
A) goH® fied B) feame ficg C) &g feg D) Fe-Hfean feg
mhwmﬂwamemsm@rrmmﬁméwwa

(A) E1-H& UarH (B) BATSY WIS THT YaTH

(C) AUSHIE (D) =98 YA

IEd © fefis WIdamed! 8839’ & fogaT nig FaeT O

(A) LAN (B) WAN (C) PAN (D) CAN
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102,

-
<
L

104

i06.

107.

108.

109.

110.

=
)
—

112.

aﬁ@?ﬁmmw—mmmm@amefmmﬁﬂ
HTEGT

AT Ed (ByFEEt S Ed () e 03 Aeeend & ¥IH F9E (D) JTaa
MS- ureayifee feg arat wraar &t &

(A UTE-AYTIE YR yFTe € fand B) ABTEF & wdl g95 €t feu
(C) FEEE Gua et § gwge It fedt /D) QuIE A
MS- Ureg wnifie fog ye-famda’ € ieed fes., feawe at &

(A) WETHE §2& gt wWarst ARTElg § widl ager §

(B) ety QuT feal W frug! afsa g9s 3 aod a9e! J

(C) FrIT-Hrger & &7

(D) Guddga A'd

MS- =g ynifee & ax feg, faodt ‘@Y AerEly yedns feg ABeis § »al adf
T

(Aesc&  (B)RUF g4 (C)ynfed &t (D) HEH Fea
——————— yf38'3T 8978 T g § g aeAT3HId 39 ¥ i I6, U3
fegr © foe Teow femm gu fae fas 75

{A) g€ Hded <rfean (B) UntHafea =megn

(C) Uoinfes @ fecn (D) 3 =vfogn
wmm@mmmmmgmmmam@
gt 89 & WissTEls AT F9% BT U T JIIN:

{A) SSL M SET (B) Verisign "F SHAI
(C)READY, SET "3 GO (D) PGP.PEM W3 SSL

MS-EXCEL FigHte fegens & yiel fed, 7T A5 #Edn 9 383 © fogt () e
Y= &g AT J7 (ex. $B$2:8BS100)

(A) faHfeg Fe WEon seTenT 7ieT 7
(B) BE #Wrged @W AT gew wrear 7o fen g fafr g Fa feg qnit g7 AmeEsT
(OyHe ST e AT d

(D) FecH 913 7ig w5 & &at feurget
gfufes o arew ew@e &, fond 3t ganies -
(A)éﬁi@ﬁeﬁm—%ﬂa@uﬂeﬁrﬁwgwméﬁﬁﬂw@m

FIET T
(B fieaie &% AEfag »irETe: €T § frergder d
(C)ﬁa—wmmm@mxw@?%

D) U3 g
mm,%ﬁﬁwmm%mﬁmfeﬂmﬁﬁmg@ﬁ:
{A)TEE FrETE I T T TTENST ‘B) CD-ROM & Tt gTEIBT
(C) 3.5 - g ggll Feie 3 T T8’ DYa=s (B)#H= (C)

far Tadt < it &7 T A -

(A) 7T (ByH'd (C) Guwg (D) iz

I gfet wruet 91 -~ Jer I M Yl J9

(A) 5EAS JuT T (B) Uz &3r Jev J

(O efeerJer g (D) ugTfenr JeT g
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113, e} ferrrags f=e ofew sar =t fare gt fast o

(A) UH B & (O)RF (DY
114, @, 9, € Aye Is eyt fed & 75

(A) TR (B) ferfva () fafamr (D) AU
115 ‘%’ HEY € 50<9s o

(A fantt (B) &t (O E (DY AT
116 IB&TT UY T Je-Tud feime &t faaiwdt famt gehit 7

Ay 35 (B)gd (G (D&
117, 5 9@ 9t ST wrfen 37 @ I3 feion fes &1 4

[A) UTE T3 T (B)WEEES §T TE

(C) T g TE (DyMYTE g3 T
118, fafgm femme € fos gu i o&;

(A)HE (BYAS Y E (DY Ier
119 ‘Gas’ mee o feRRE gu T

(A) gRat (B) §rEaT (C) g (D) Gwet FeET
120, ‘4aTE AYe ©F 9% I A O

(A)G¥T (B)HET (C) Ag o (D AT
121 mmémw@mmmwmmﬁmﬁj

(A) g (B) FFaZ () ferfia (D) AT09&
122 ‘grawdy &t I

(A)STHT (B) Gu-g=" (C) ferraas (D) faut
123. Wum%qmnmwwumgfawwﬁ

(A} BTES (B) Ht==t (C) ASFIEa] S EGILCED

Directions (Q.124-126):-  Choose the correct preposition to be filled in the gaps in the
following sentences out of the four given options:-

124, Seeta finally managed to break free ... her attacker.

{A) from (B) with ‘C) by {D) through
125, 1 wish she knew what she was driving ...

(&) by {B) at iChon (D) oft
i26.  Venkat was lucky 1o get ..... with a small fine.

(A)on (B) through {(yoff (D) by

Directions (0.127-130):- Choose the correct syncavm of the following out of the four
given options:-
127,  Adduce

(A) Cite (B Reduce i*2) Subtract (D1 Addict
128, Debauched

(A) Cruel (B) Depraved (i7y Dangerous D) Bicached
126,  Exasperate

(A) Entertain {B) Exhaust ‘) Infuniate (D) Attract

-

130. [mpohnc
(A) Apolitical (B) lmpolite {Z) Political (D) Unwise
Directions (0. 131-133):- Choose the correct meaning of the following idioms out of the

four given choices :-

131, To nail one’s colours to the mast
{A)to be a good sailor (B) to be accessible to all
(C) to be pessimistic (D) to refuse to surrender
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132, 7o come to a head
(A) to reach a crisis (B} o attain perfection
(Cyto master something ‘D1 to climb a mountain
135, To ieave somecne in the lurch
A)to aspire for his’her friend’s position  Blto desert someone 1 a helpiess conditiorn
C) to plot a conspiracy D) to rob somebody in & journey.

Directions (0.134 & 135):- Choose and mark the correct sentence out of the four given
options:-

i34. (A) The population of London 1s greatet i then Jaipur.
(B) The population of London is greater than Jaipur.
(C) The population of London is greater than that ol Jaipur.
(D} The popuiation of London 1s greater ithan the cityv of Jaipur.

i35, (A) Sachin is the greatest of all other baismer:.
(B) Sachin is greater than all the batsmen.
(C) Sachin is greatest of all other batsmen.
(D) Sachin is the greatest of all batsmen.

36 fog mEe 9 @ 95 ot &7 fd O 3 &7 Y UeET, ATST TeW SR-9erst 97 -

(A) A TAW a7 (B) &% gatens
(C) g9=7d Trur AgTg™ D) Farg
137. fyese &1 fdt (1809) §UT 99375 AEAE &8 o7 & eRgyg a1 .
(A) festn Efea (J3) BTEF IS T
(C) gawH feGfesn Hea= (D) Ag 7dw 98

138, faas 2we faoe iy feg of @t € fege-atugt & greet J13t:
(A) TS wigdiaT Ba™ g9 - UTT®T ¢HT 2013
(B) BT T&H MIHEBPHT -~ FHT ZHE 2013
(C) EFe fesfa gan fagHies - ga™ eHe 2013
(D) wfaAzTs & Ht &dT —- UfIST 2AE 2013

139, fonrmat @ faas fic & gaamt o faor wer At

(A) YfordTsT, HEdd s, 3797 iB) UfensT, /e, HE IS cET
(C) Ufenrzr, 5197, /T, TUSEBT (D) UTenT8T, JTE, 3797
140, o fafimf ¥7 HE& dq:
1. ferm 1 a. foum _
3.95H oo MATEST |
i4.ﬁ?&m d. fegmar |

(A) 1a,2¢,3d,4b  (B)1a,2b,3c4d  (C)lo,2d, 3¢, 4a (D) 1d. 2c. 3b, da
141, 12-2F (A A&T Gaar e Gu-fRasy At

(A) Tanrfe nfag feat (B) A& fonfe &7 feut

(C) mifud 39, sfae w3 e M fedt (D) SteEe fedt v et fem
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144,

Eﬁ:fﬁﬁfGrTovwanaﬁﬁéawxe 73 vifsnr mre 3 fafe-

(A) THST- ﬂurswﬁaﬁﬁgzﬁaThfhﬁﬁﬁﬁﬂ?ﬁ?ﬂaﬁﬁxﬁamawwé‘asﬁa?vi"u
Aaer H

(B)ﬁﬁTUﬂﬂFFEWREFH?THUEETTT?ﬂm*%HTEWnﬁ?"ﬁ?ﬂ’

(C)ﬁﬁémﬂmmaﬁmaﬁfa@ﬁmlqd JHTITE UL
B fami

’D)Uﬁmﬁihﬁ?ﬁﬂ?ﬁ¥ﬁﬁﬁ§€ﬁfaﬁﬁﬁ"ﬁ?GE"EHURﬁT?FFTETa*

TS AHITHE T 9076 9793 St wirgfa fsamt o Horg fan & YRgd a3 AT

(A) A=Id B8 &fog ‘B) =T FE] 5TaA!

(Cynrg AL €3 Dyvwd, . ardy
mﬁaﬁwwmemﬁmwa

(A nhafanT FE (B AT FTIT

(CVHT. ve. TG (MY Ut At HigsTadtA
WTWWHEEWBE@WWU

(A) F9eT Ty (B) fzargel {C)MaBHIT (D) BT I
(A) feedt M3 Slg7s €7 AId! YIRS (B) BTCIHFH T AIA9] YAEE
(C) TFTH &€ AIad YAHE (D) AUTST FeETd € AT falae
g9t Fa-f=erE fog Rer-§% faua &

(A} BUDTH &de (B) AfeU™® (C) ARE (D) T3

&5 Ha© & 99T Fod @ UfTE e § v 76
(A) UAS & (Question Hour) (B) Ag=dfea & (Public Hour)

(Cy Hig & (Zero Hour) (D) feiarfuad a&  (Privilege Hour)
ﬁﬁﬁ§EUﬁ§ﬁ?gFmﬁmﬁﬂf%?ﬁrﬁ@ﬂﬁiﬁgﬁfgaﬁﬁﬁagaﬁéT
(A)1921-31 (B)1911-21 (C) 1941-51 (DY 193:-4%

Bﬁﬁﬂ'EaFWﬁﬁﬁﬂFrﬂglﬁﬂF>H3e??ﬁhﬁ“ﬁmTﬁﬁﬁﬁﬂFEVﬁngT:RYHWﬂE“TEEF

Fet for =% g 15T IE O
(A)F AT AT (B) #H T, AT
(C) gfgmmeT HIaT {D)@hﬁaziﬁﬁféwﬁaﬁzxﬁii
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Instructions ;

[

D

10.

Write your roil number on the Question Bookiet and alss on the OMR Answer Sheet anly in

the space provided and nowhere eise.

enter the Question Booklet Number and Series on the OMR Answer Sheet by darkening the
coerresponding bubbles with Biack/Blue Bali Point Pen oniy.

To open the Question Booklet, remove the paper band gently.

Check that the Question Bookiet contains 150 Objective Type questions with muitipie choice
answers. In case of any discrepancy, inform the tnvigilator within 10 minutes of the start of

test.

Each question has four alternative answers A, B, C & D, of which only one is correct. Darken
only one bubble A, B, C or D, whichever you think is the correct answer, on the CMR Answer
Sheet with BLACK/BLUE BALL POINT PEN only.

Al questions are of 1 mark each. THERE IS NEGATIVE MARKING. 1/4 marks will be

deducted for every wrong answer.
Rough work is to be done on the gquestion bookiet only.

Do not make any identification mark on the CMR Answer Sheet or Question Booklet

The Answer Sheet is designed for computer evatuation. If the instructions are not followed
properly, the candidate aione shall be responsible for the resuitant 10ss so caused.

After the test, hand over the Question Bookfet and OMR Answer Sheet to the Invigilator on
duty,

Telecommunication eguipments, such as cafcuiators, pager, cellular phone, wireless & blue
tooth devices etc. and weapons are not permitted inside the examination hall.

Nothing is to be copied/noted from the given OMR Answar Sheet and Question Bookiet, and
be taken out of the Examination Hall. Anv candidate found doing so would be expeiled from

the examination,

A candidate who creates disturbance of anv kind or changes his/her seat, or is found in
possessicn of any paper possibly of any assistance, or found giving or receiving assistance, or
found using any other unfair means during the examination will be expelled from the

examination, The decision of the Observer shall be final.

The candidates will not be ailowed to leave the Examination Hall before the expiry of time.
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